H Geometry Qtr |
Cumulative Practice

Compiled from some old
NY Regents Common Core Exams

$ Point A is not contained in plane B. How many lines can be drawn
through point A that will be perpendicular to plane B? YA

{3} zero \

@ two . (4) infinite !

26 Which statement i kmmi}iy eguivalent to “IF it is warm, then I go

swimming”? Qoo pove
{1} if i ge swinnming, then it ts warm. L —sw 58
Ao WA

{4} TFit is not warm, then I do not go swintming

13 What is the length of the line segment with endpoints A{—6,4} and
B(2,—-53?

: palHs)

(1) Vi3 o (3) 72

@ 17 ' \ (4) Vid5 | ' q!
NFTEE = {175 3 "’;%‘g}-

14 The lines represented by the equations g + -<x 4and 3x + By =

=~} bw=+ Bx +1
{1} the same line 5= >{+4 97 a-ius
2 paraliel i? =
(3) perpendicular SO BOR
) vd‘-—“"c'e’?
{4) neither parallel nor perpendicular R

19 Ifaline segment has endpoints A(3x + 5, 3y) and Blx —~ 1, —y), what
 are the coordinates of the midpoint of AB? ( 2o+ S+ x| "-‘*‘ﬂ"ﬂ

1) &=+3 2) 3 &x+3.y) z 7/ 2
d

{4) (da+4, %

9 Which equation represents a line that is perpendienlar to the line
represented by %x — y = 77 = Ax -7, =R

V7= Lais) @ y=-2x+6 =
@ y=gx+6 4 y=2+6

16 ‘What is an equation of the line that passes through the point (7,3} and
isparalleltothelinedx + 2y = 10F —= W = —~ A,

Wy=t-1 L @y=x-1 y-3sa(e7)

@ y=-g+y Y=

24 What is the slope of 2 line perpendicular to the line whose equation is
W= -+8 —Pwm = T3 se L wr= |\

(}ﬂ

W -3 @ 1
@ { 4 6




Parallel Lines

26 The diagram below shows parallelogram LMNO with diagonal LN, mZM = 118° and

md ING = 22°, NS X 150
\G +22 +
= &q°

© 40-{-2.5 N ¥o = Ny
Explain why mANLO is 40 degrees.
/S NLo is ot Tik o 4. l—'\’M‘ (x)
Z NLM s Al ":«k'owk'\" “e A0 (L tNOD
S A LM ’s 25 ods - (§O°
| LM = §O —BE THO

L gro oAl i

1 In the disgram below, lines & m, n, and p intersect line 7,

KO~ 2 =¥
[¥0 — 129, =5%

1122/ LY

/ 7'“/

Which statement is true?

wy

/

(y 2lln {3} mﬁp}(

(2 £ilp @ mln X
{

Cocr £ 2

15 e i

" 82 In the diagram below, E¥F intersects AB and CD 1t G and H, respectively, and G is drawn sach
that GH = 1,

HmiEGE = aB"andméD{G*liS“ lain why 4B [| €D.
La_ - .‘;;5"‘ b(e?)la%( ?0\‘ )

TV\L | = £ = LS <%"°<-A"‘ﬁ}"‘°/’h S )
WD = g0 — a(s) = 50° CA“AIW>
FRTS Coce L5 2 A4 Lines Y\




8 I the diagram of parallelogram FRED shown below, ED is extended
to A, and AF is drawn such that AF = DF.

17 Steve drew line segments ABCD, EFG, BF, and OF as shown in the
diagrarn helow. Scalene ABFC s formed.

¥ - R
A=< Vo A g o D
¢ YA \//
A B > E Eff___“"‘c;—,w «fj( E F e
s A4S R . =(&0 R
I miR = 124°, what s mLAFD? =R {—LSI’ K L/) \)< Which statement will ?ﬂc«w Steve to prove ABCD || Erge
() 124° () 68 4 %0 K> oy zore=Zrcs (3) LEFB = LCFB
(% 12 4} 56° Al e @Y ZABF = ZBFC (4) LCBF = LCFC
A—-\- —‘-c.—w s
4 P Al Tt
o 5%°
LA ZLD Base
M\_’t
4 In the diagram below, mZBDC = 160°, mLA = 50°, and
mLDBC = 30°.
%
QU
. 5e 5o
Triangles 5 C

Which statement is true? | 40
(1) AABDisobtuse. """ (3) mLABD =§0° X 50°
(4) AABD s sealene. X 150

f {8} HABU is isosceles. |

(AD® ﬁm?so)

(N



31 In the diagram below of AHQP, side HP is extended through P to 7, m£LQPT = 6x + 20,

mLHQP =x + 40, and mLPHQ = dx — 5. Find m£LQPT. = ( v +2.0

Q LUD 42

{x + 40)°

110°

s
{4x - B)Y°
T P H

é:x-%lo LY —(—40) . {i\f&idrawaicscaia}

X —_ I

24 Which statement is sufficient evidence that ADEF is congruent to
DABC?

X {1} AB = DE and BC = EF by A
(2) LD =LA LB=LE LC=LF _gi_m) Muzuo

{3)- Thernisa seq&&xme > of ng)d motions that maps ABonto DE, BC \/
onte EF, and AC onto DF. ISSS

{4) There is 2 sequence of rigid motions that maps point A onto
point D, AB onto DE, and [;8 onto LE. pASA o

P AT LA gennde A .

7 In the diagram below of AAGE and AOLD, LGAE = LLOD, and
AE = 0D,

A e o - D
To prove that AAGE and AOLD are congruent by SAS, what other
nformation is needed? ,
p— I ~/
éo‘-\‘—”’)/ K GE=LD ppg < {3) ZAGE = LOLD (APrs = >
@) AC =01 @) LAEG=£ODL (fshS)

22 Civen: HABE and ACBD shown in the diagram below with
DE = BE

A
o
. . \/b;\gj‘/“/
B 3 = . c / %@

| (D
Which statement is needed to prove AABE = ACBD using L AN
only SAS = SAS? g

(1) LCDB= LAEB

(2} LAFD = LEFC




1 Inthe diagram below, AABC = AXYZ.

B X

A

Which two statements idenfify comesponding eongruent {;arts for

these tiangles?

/m/as =XV and L0 =Ry =

)2{;&3 =¥%and £C = 2X
“BC =XV and LA=LY

() BC=TZand A= 2X |
f‘_‘,.._-‘

Transformations

30 In the diagram below, AABC and AXYZ are graphed.

otate 1807 3

_ ‘ A
o ' , .
ceth oA N
1 —.-/‘g~
'~ ,, e 8
“-%"\/J‘: (2.~ %
[(/'q,( ) I\/w_/ \..\

k

Use the properties of rigid motions to explain why AABC = AXYZ

4 1In the disgram below, congrnent figures 1, 2, and 3 are drawn,

y A ¢
M P 8
F B
£ ¢
E ¢ B
5
- X
& P
ol 2 Sa
\\_,,m_/
& B8*

Which sequence of transformations maps figure 1 onto figure 2 and
then ﬁgure 2 onto figure 3?2

})’ a reflection followed by a transfation
a rotation followed by » translation
(3} = trandation followed by a reflection

QR 0S0wed Oy A reflection
M followed by a rotation ’/




13 In the diagram below, which single transformation was used to map

triangle A onto triangle B?

(1) Bnereflecion {3} dilation
~{2} rotation {4) tanslation

2 H AA'BC is theimage of AABC, under which transformation will
the triangles not be congruent?

{1} reflection over the r-axis

{2) translation to the left 5 and down 4
~dilatici centered &t the origio with Gle r2
{4} rotation of 270° wuntemiockwxse about the origt

36 After n reflection aver a lins, DA'B'C i the image of AABC, Bxpluin why iriangle ABC s
congruent o triangle A'B'CY.

& rwbh\i W'/‘t-';/ (EQDA%MM%WJQQ
W
Do Comeg AT

M’};&L Q"’}\» 4'% é\ao

5 In the diagram below, a square iy gra{)}leci in the coordinate plane.
A\

¥ v

L.

E

A reflection over which line does not carry the square onto itseli?
QE=s) @y=z Ck

Dy=2oyg, @) sty =4 {2

29 Triangle MNP is the inage of triungle JKL after a 120° counterclockwise rotation about point Q.
1f the measure of angle L is 47° and the measure of angle N is 57°, determine the measure of
angle M. Explain how you. arrived at your answer.




5 Which point shown in the graph below is the image of point P after
a counterclockwise rotation of 90° about the origin?

¥

{ A } & C

) B 4 p

7 A sequence of transformations wmaps rectangle ABCD onto
rectamgle A"B"C7EY, as shown in the diagram below,

Y

Which sequence of transformations maps ABCD onto A'B'C°D and
then m ‘B'C'D onts XBCTD?

{2} aveflection followed by a banslation
(&7 a translation followed by 2 rotation
/f‘aﬁ;’ a translation followed by a reflection

Constructions

§ One stop s & constraetion uses the walpoints of A 1 reents srcs
with the same vadii. The arcs intersect above and below the segmen,
What is the radationship nf A5 end e Hne on
imersaction of these exs?

i1} eollipsar

7t b, wse w opp and Vinighledge e Rt
i<t s, -

rreting the priats of

41 perpendiodar

A Cratrnet en squilatecal triangle bovhed i circde T shown below.
Leave all constrcton murks.}




